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3amaua G. X2017

Hanen e Hu3 ot aecetnuyHu nudpu. Hanumere nporpama, KOSATO Ompenelns Mo KOJKO
pa3nuyHu HayMHAa MOKe Aa ce moimyud 2017 or uyertupum OT naaeHuTe mudpH, Kato ce
pasIosokar B chlIaTa IOCICAOBATEIHOCT, KAKTO B HAYAIHUS HU3.

Bxon

OT bpBHUs pel Ha CTAHJAPTHHSI BXOJ] CE€ BbBEX/Ja OpPOST HAa TECTOBUTE MPUMEPH.

Bcekn TecToB mpuMep ce ChCTOHM OT €IWH pell, Ha KOMTO € 3amicaH HU3 OT JECETUYHU
udpH.

H3xon

3a BCEKHU TECTOB MMpUMEp na €€ U3BCAC TbPCCHUSAT 6pOI71 Ha OTHACJICH pEA Ha CTaHAAPTHUSA
Hn3Xonad.

OrpanuveHus
JImmkrHaTa Ha HU30BeTe € Hal-mHoro 4000.

IIpumep
Bxox H3xon
2 4

352906120127 16
22001177

O0sicHeHHe HA MBPBHUS TECTOB NMPUMep
352906120127
..2.0.1....7
..2.0....1.7
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Problem G. X2017

A string containing decimal digits is given. Write a program, which computes in how many ways
it is possible to form 2017 from four of given digits arranging them in the same sequence as in
initial string.

Input
The first line of the standard input contains the number of test cases. Each test case consists of
one line containing a string of decimal digits.

Output
For each test case output the computed count on a different line of the standard output.

Constraints
The length of the given strings is at most 4000.

Example

Input Output
2 4
352906120127 16
22001177

Explanation of the first test case
352906120127
..2.0.1...0.7

7
2 01.7
7






